2008 F A= NGRS Yh—HR4ERER
*x24 RMEIBEEZEILERM
254 KWELBES. RS EM0 R

£H 8H23RH
Jovoy—=4
AJOyy [ devg| L | 8BE | o [BRBXREEL | BJOvy | K | KiE | W8 |Ba|EX[REIEN
AL/ 3(—)0 21(20 2(—)0 YlE =& 023 o—.1 A
2% (; 51 é o e &R ;% & o I
S o—.21 1’9 027 e M 12(20 2(—)0 MM
Pz=vIA 0?2 2(_)0 7(_)0 6 | 7|9 2
cyovy | F#uX [FessRy—X| & |BR[BX|REES |DIJOvy| ERW | o= | Fin |BR|1SX[BEIE
FyX 490 291 6 | 5| 6| 1 SR 2(_)0 5(_)1 6| 6| 7|1
[THPRE 0:4 1 :4 o -7 1] 3| |7745—X 0?2 4(_)1 3| 1| 4] 2
Ry7—X 1 :2 491 32| 5] 2 ¥ :5 1’4 0of-7]2] 3
EJOvY [Baze| BHE | 2@ * |BR|EXRBEEN | FIovy (U= B | X# (BE|EXRE[IER
BENZJr 0?0 0?2 1l=2|o0]|3||F)—> 0: :2 ol-2|1]3
BHE 0?0 1?1 20| 1] 2 ==Y 1(_)0 3(_)1 6 [ 3| 4] 1
ER 2(—)0 1?1 A R 2(—)1 1’3 N
G7Ovy | RE | =+t3 |LowE| K |BR|EXEBFIER | HOOyY | 41LJ> | YOICH | B4 B |15 K| #15|IEf
JRET 0:9 1 90 3| -8| 1] 2 AT 4(_)1 6(—)0 6 | 9 |10] 1
=+ 990 490 6 [13|13| 1 || YoICH :4 1(_)0 3 |-2| 2|2
Low=| @ g 0|-5|0]3 =E;3 g g 0|-7|0]3

o
i\
o
|
~
T
o

0-1

BRI D RO T




2008 FE K& 50 #%

INGHR Ty h—HRABRER

PN KT BEZESHEEN
=154 Rl LEERIE. RS B, RET
<H 8/23,24 SMF—LE(25)
R’ OB O — F A 2 b
Adt/hig
3
1|3 EO0PK5
BT 0
1
CHvX
v 5
1|3E EoPKe
D A 2
= B LTy
EEfE -
0
0
FE]|
n 3
G=+tO 1
2
4

HALT >




